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QUESTION 1

A customer is planning to deploy a FlexPod solution for a large scale SAN requirement that uses the FC protocol. The
customer plans to use Smart Zoning in the configurations to reduce the number of TCAM entries in the zoning process. 

In this scenario, which design would enable the customer to use Smart Zoning? 

A. storage connected to Cisco Nexus 9000 Series switches 

B. storage connected to Cisco Nexus 5000 Series switches 

C. storage connected to Cisco MDS switches 

D. storage directly connected to Cisco UCS Fabric Interconnects 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/UCS_CVDs/
flexpod_datacenter_vmware_netappaffa_design.html#_Toc23952741 

 

QUESTION 2

You want to deploy a FlexPod Datacenter solution based on the minimum hardware requirements. 

Which three components must be deployed in highly available pairs to accomplish this task? (Choose three.) 

A. Cisco USC Nexus Switches 

B. Cisco UCS 5108 Chassis 

C. NetApp FAS Storage Controllers 

D. Cisco APICs 

E. Cisco UCS Fabric Interconnects 

Correct Answer: BCE 

 

QUESTION 3

A customer wants to deploy a performance-sensitive workload while leveraging NetApp Snapshot technology and
technologies such as NAS and SAN. 

Which architecture satisfies these requirements? 

A. NetApp StorageGRID 

B. NetApp SolidFire 

C. NetApp EF-Series 
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D. NetApp AFF 

Correct Answer: B 

 

Reference: https://www.netapp.com/media/10608-tr-4636.pdf 

 

QUESTION 4

A service provider is designing a FlexPod configuration to host multiple customers in a hybrid cloud environment, where
IP address-range conflicts might arise on the shared storage. 

Which NetApp feature should be enabled to prevent these conflicts? 

A. SVMs 

B. broadcast domains 

C. IPspaces 

D. failover groups 

Correct Answer: C 

 

QUESTION 5

You are designing a FlexPod solution with a 2-node storage system, multiple compute chassis, and ACI. 

In this scenario, which two network switches are required? (Choose two.) 

A. leaf switch 

B. core switch 

C. cluster interconnect switch D. spine switch 

Correct Answer: AD 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-
centricinfrastructure/white-paper-c11-737909.html 
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